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def calcSum(array):

sum=0

foriin range(len(array)+1):
sum += array|l
return $um

inputArray = [1,2,3,4,5]
result = calcSum(inputArray)
print(result)

IndexErr

“¥AppDat
6
7 inputArray = [1,2, 3,4, 5]

———> 8 result = calcSum(inputArray)
9 print(result)
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def calcSum(array):
sum =0
foriin range(len(array)):
sum += array|[i]
return sum

inputArray = [1,2,3,4,5]
result = calcSum(inputArray)
print(result)

Traceback (most recent call last)
¥Local¥Temp/ipykernel _13456/44504886. py in

“¥AppDatp¥Local¥Temp/ipykernel_13456/44504886. py in (array)
2 | sum =0
3 ! for i in range(len(array)+1):
—> 4 sum += arrayl[i]
o return sum
6

IndexError: list index out of range

def calcSum(array): TV kT 7\

print(array) — [1, 2, 3, 4, 5]
sum=0 010
foriin range(len(array)+1): 1
print(i,array[i],sum) :13 2.1
sum += array|[i] 533
print(sum) 6
return sum 346
10
inputArray = [1,2,3,4,5] ;‘55 10
result = calcSum(inputArray)
print(result) > X
IndexError Traceback (most recent call last)
“¥AppData¥Local¥Temp/ipykernel_13456/1758751918. py in
9
10 inputArray = [1,2,3,4,5]
—> 11 result = calcSum(inputArray)
12 print(result)
“¥AppData¥lLocal¥Temp/ipykernel_13456/1758751918. py in (array)
3 sum =0
4  for i in range(len(array)+1):

—> 5 print(i,arrayli/, sum

5 SUm = arrayri]
7 print (sum)

IndexError: list index out of range




> function ticketPrice(age,
let price;
if (age < 18){
price=1500;

useCoupen){

18meRimDFrybit: 1500H
18Ul LEDF4yht: 2000H
H—iRAFADIEE (L5005 =

Javascript

> function ticketPrice(age, useCoupen){

}else{
price=2000; r—J ﬁl
} - .
if(use?ouperl=tr'ue}‘ﬂ1 let price;
) price=price-500; \ if (age < 18){
return price; 5%’??%*% price=1566;
i 188 TH—RUFALALY yelse{

ticketPrice(|18,false]);

| 1500 |«—

@ T2000M D (L3 HY1500H

price=2000;

}
console. rice);
> function ticketPrice(age, useCoupen){ if(useCoupen==true){
let price; -
if (age < 18){ price=price-5090;
price=1500; }
yelse{ . return price;
price=2000; R THRERTRI HI—F } P ’
) o ECLREN . .
Fonsole.log(price); CCETRERGL ticketPrice(18,false);
1f(useColpen=true)
price=price-500; 2000
} D E-H[-EEEEHL .
retufn price; CCDECNICHEDHY 2000 TFEAETHE
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18mRimDFrybit: 1500H
18HULDFrybt: 2000H
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def ticketPrice(age, useCoupon):

if age < 18:
price = 1500
else:
price = 2000

if useCoupon E True:
price -= 500

return price

price = ticketPrige(18, False)
print(price)
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| T useCoupon = True:

SyntaxError: invalid syntax
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def ticketPrice(age, useCoupon):
if age < 18:
price = 1500
else:
price = 2000
if useCoupon|== True:
price -= 500

return price

price = ticketPrice(18, False)
print(price)
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